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Hectares of the world’s forests are destroved for ever. Why is this happening ? There
are two reasons : land and wood. In many countries, the trees have been cut down hecause
the iznd was nceded for animals or crops. In other parts of the world, the trecs are cut down
because their wood is used by the local pesple for firewood or cxported o Japan, Furape or
North America where it is used for buildings or made into forniture,

Unforrunatels, in most places, the trees are not replaced and thice soil is washed away
; by the rain or blown away by the wind, Soon the forest hecomes a desert. When the forest is
destroyed, the homes of millivns of animals and plants ure destroved, tan. As a consequence,
all kinds of specics. as well as thuusands of plants are in dunger. Who is to blante for this
disaster 7 The answer is simple : all of us, Of caurse, it is verv easv to blame the loea) peaple.
We don’t chup down trecs. They do. But the products are bought by people Tike vou and nie.

fHorfine — Tom Hutchinvon i
| A

SECTION ONE : READING COMPRFHENSION : (08 pts )

1. How many paragraphs are there in the text? [ 0.5 pt)

2. How many sentences are there in the first paragraph” (0.5 pt )

3. Read the statements and say whether they are * TRUE ™ or % FALSE *. Justify vour
answer by quuting frem the text. {3 pis )
4 — Forests are disappearing because man aeeds land ond wood.
b — The destruction of trees causes preblems of land erosion and deforestation.
¢ — Oniy those who cut down trees are respensible for this disaster,

4 Give a title to the text, ¢ 1 pt)

5. What do the underlined pronouns refer to in the text? {1pt}
a — The trees are cut down because their woad is used for firewood.
b - 1t's very casy to bleme the local peaple. We don't chop down trees. They de.

! their | |

| They |

6. Lexis:  (2pts)
g. Find in the text words, phrases or expressions that are closest in meaning to the
following :
sorts = evervbody =
D. Find in the text words, phrascs or expressions that are oppuosite in meaning to the
following : (1 pt)

imported = complex =

.d,ﬂai.ﬂ ",;‘; TI.EH Zf'l_]_;_-.i...ﬂ 1I| |




SECTION TWO : MASTERY OF LANGUAGE :  ( 06pts )

1. Supply punctmation and capitals in the following passage: (1 pt)
what can alperians do to protect the tassili

2. Copy oniy the irrecular s erbs on vour answer sheet: (1 pt)
cuf — chop — have — becomnic — destrov ~ do — blame.

3. Write the adjectives that ean be derived from the following nouns: (1 pi)
use — wind — danzer — rain,

4. Classify these words according to the pronunciation of * ed ™. Copy the table on your
answer sheet. {1 pt
destroved — osed - exported - replaced.

i idd 1 ndd

5. Complete sentence (h) so that it means the same as sentence (a): (2 pts)
1 ia. The trees have heen cot down,

h 1[5111 L K LR B FLiLyEELLLS LA kA rFdaa e EE EELEENLLLLLEEEEg
Z A Grandma bJIl' *in the old davs people used wnod to cook their meals,
o Crrandma soid thar ... e A bma s e ia e e anneeen

SECTION THREE : WRITTEN EXPRESSION : (6 pts)

This is o conversation between a little child and Lady Nature.Complete what the httle
child suvs.
Little child: . et em e ke e e ea e panaiaanmnnan s
Lady "'-.uun: [ m r]unc- out. ['m Sufﬁ:‘rmﬂ' H I{:L
Litile child: .o i, 4 raraar rmn et nae e e aannan b dns
Lady Naturce: Man, of course. He's so harmful. HE 5 {Ieﬂrm ing me,
Little child: .o 4 et ramn e naeeene e arenns ferraern
Lady Nature: He's curting down my trees. He's pollating my air and water. He's Lilling
nmy animals.
Little child: i ciiiniiinins ot 1 4N B ke ek d ke e ma s ar e namann e R
Lady Nature: Thanks for trving to protect me.
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| % pts SECTION ONE :
0.3 pt L. Therc are bvo paragraphs in the fext. f There are two (2% F Twa (2).
i3 pi 2. There are five (3} sentences in the first {1 st) paragraph. / Five (3).
_n_ : 3.
| a. True { Right f Correct / Yes (0,3 pii
There are two reasons : land and wood. / Becaose the land was needed for
: I animals and crops, and wood is used for firewood or huildings or made into
. Furnitere, / In many countries . .. made into furniturc. if), 3 o
Ipt i b. True/Right{ Correct/ Yes (.3 i
the soil is washed away by the rain or blown away by the wind. / the forest
becomes a desert. 3 pr)
lpt - g False/ Na ! Not correct ! Incorrect S Wrong (53 prd
" But the products are hought by peopic like you and me. / Who is to blame for this
" disaster ? The answer [ simple @ all ol us. (0.5 pr)

1pt "4, Forests ¢/ The Destruction of Forests / Deforestation f The Causes of Land
. Forosion ¢ Man is Destroving Forests ! Harm Done to Forests/ Poor Forests / The

Disappearance of Forests,
1pt 5
. their | trees (23 po
" thev  the local people <7 ‘p:,] .
ipts 6.

Fpt ; a. sorts=kinds (0.5 ptj
evervybody = all of us (0.3 pu)

1 pt b. imported = exported (0.3 pi)
complex = simple (0.5 pt)

G pts SECTION TWO :
1pt ! 1. Whatcan Algerians do to protect the Tassili 7
fOLET ) 1525 po) 0,25 py (0,25 pi}
1pt  2.cut 23 pii— have ol 25 py
become (025 pri = do (0.2F pi) |
Lpt 3. useless / useful (725 pr) = windy (0. 23 pi) — dangerous | /0,25 pri — rainy (023 pip
1pt | 4. !

it ! id fad
replaced (025 pi) destroved /023 ) exported {0, 2 pr)
used /25 pij

1 /2



2 pLs i a.
1pt . L Man has cut down the trees.
1 pt 2, Grandma said that in the otd davs people had vsed wood ta cook their meals./

Grandma said that in the old days people used wood to rook their meals.

i

| SECTION THREE :

1,5 pt | 1. Lirrle Child : Why arc you sad Lady Nature 7/ Why are you crving Lady

Nature * { What’s the matter Lady Nature ? / What's wrong with yon Lady

wature ¥/ What happens to you Lady Natre 7

1,5 pt | 2. Little Child : Whe's huarting you ?/ Who has hurt you 7/ ¥ho's dering that

to you ? / Wha Jid that to ven ?/ Who's responsible for that 7/ Who has

done this to you ?

1,5 pt | 3. Litde Child : How 7/ How is he harming you ? 7 What is ke daing to you !

1.5 pt , 4. Little Child : Don"t warer, I'll protect you. ¢ Don't werry. We'll try to change -
this.! Don't worry, Ul take care of you. / Don't warny. I'll fight for you. '
Sorry, Lads Nuwre. I promise to protect you. ! [ promise Il do semething for |
¥ ou.

212
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Read the text carefully then do the activities

Text :

There arc thonsands of langnages all aver the world. India has the largest

__;11 Ly sall B ylpe

2006 O s

| number.
English is the most used language onktarth, but Mandarin Chinese is spoken

by 70% of the Chinese population. The oldest written language is Egvptian.
English is the language of business and technology. However, it is not easy 0
learn. It has the largest vocabulary, English has borrowed many words from other

languages such as French and Arabie.

Activities:
| Section one ;: Reading comprehension {8pts)

. A - Read the text and answer the following guestions {3pts)
1-Where is Mandarin spoken?
2-Which is the oldest written language”
3-Is English easy to learn?

B-Write" true” or "false”. Correct the wrong statement {(03pts).
1-There are different languages in the world.
2 — Egyptian is the most used language in the world .

3 — English is the langnage of technology.

| C- Leaxis (Zpts)
1- Find in the text words or phrases that are closest in meaning to the

following:

a - nearly =......... b -inhabitants =.........
3_Find in the text words or phrases that are opposite in meaning to the
following: '
a—newest =......... b -easy = .iciviiin

Section two : Mastery of language (06pts)
A-Reorder the following words alphabeticallv.( 02 pts )}

language — word — vocabulary — population

Aaial i T 2fMasiat | ~




B- Complete the table with the correct comparative and superlative.(2pts)

Adjective . comparative superlative
| Larger than

m—_

_The Eﬂ.SiESt

 -Write the correct form of the verbs in brackets {(02nts)
Next week, Majid (to fly) to England to follow English courses at
university. He already (to pack) his things. Yesterdav, his father (to go} to a
travel agency and (to buy) him a plane ticket.

Section three : Written expression (0& pts)

Fill in the gaps so that the text makes sense.

Ahmed’s teacher asked him to ... an article---—-- languages. He went to ...
| c¥bercafé. There he learnt that Esperanto ...... an artificial languaze which was
{ invented ... 1887, It sounds like Italian and....are no irregutlar verbs.

e L L ol gy el e e
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o n one :Reading comprehension
A 'Answery to questions:
01  4_-Mandarin is spoken in Chipa.
- China.
Apis - Mandarin is spoken by 70% of the Chinese popuiation.
01 2-Egyptian.
- Egvptiap is the aldest written language.
- Egvptian is .
3-No.
01 - English is pot easy to learn .
B- "False " aor " Trne"
01 1-True
3pts 01 3.Nu —Faise -Epglish is the most used language in the
01 | world
3- True
1pt 6,5 1-S¥nonvms:
0,5 -nearly = approximately
! inhahitants = popelation
lpt 0,5 ; 2-Opposites:
.5 -newest = oldest
-¢asy = difficult
Section two :
| 2pts | 0,5x4 ' A-Alphabetical order:
' - language- population — vocabulary —word
i 1pt 0,5x2 B-Comparison:
L 1pt 0.5x2 - large -larger than - the largest
! ; i - easy —easier than - the easiest
" 2pts | 05x4 | E-Verb form
| ~wilt fiy - has already packed
opts | 1xb -~ went — bought.

. Sectinn three : Written expression

Cap filling

write -abgut-a-is -in - there -

i1
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L'arbre, mon ami.

L'arbre estun &tre vivant : il s¢ nourrit, respire et grandit comme nows, Sous [Meffet de
la lurmsére solaire, ses feuilles dégagent I'oxveine.
En été, H nous offre son ombre. I1fixe le sol grice i ses racines. Il produit des frusts
paur noire alimentation et du beis pour la fabrication de nos meubles.
Nous devans dane le respecter et le protéger,
- Editions Mathan -

Ouestions

[ - Compréhension de ["écrit — Vocabulaird: {08pts)

1 - Pourqguoi ’arbre est -1l un étre vivant ?

2 - Mets pae cruvix devant iz bonoe répoase :

ses fewilles | |
- L*arbre fixe le sol griice 4 —F

— -
‘““h-—-______’- 5¢8 FACIDES | |

3 —Recopie les phrases suivantes ef réponds par «vrai » ou « faux »

[T A T

- L'arbre nous protége des ravons du saleil.

- L'arbre praduit de |3 lumiére.

- L'arbre dégage de 'oxyeéne,

4 - Compiéte par un mot de méme sens :
- L. “arbre fixe le sol grice 4 ses racines.
- L*arbre ....... le sol grice 4 ses racines,

dad.all G 2 /1 daia l




II —Fonctionnement de la langue: {J6pts)

1-Encadre et donne les noms des difiérents groupes de Ia phrase suivante :
- En été, I’arbre offre son ombre.

2-L*arbre produit du beis pour que nous puissions fabriguer nos meubles,
- [dans cette phrase, on peut remplacer « pour gque » par:
* cependant
* afin yue
® paree gue

3-Ecris la phrase suivante a l'imparfait puis an futur simple de Pindicatif,
- Il produit des fruits paur potre alimentation .

4-Compléte
-L’arbre est un étre vivant.
les arhres oo

i1 — Production écrite:(()opts)

De nos jours, fous les pays protégent leur environnement.
A ton tour, comment comptes —fu protéger le tien ?

(b gdiy 22 daia o
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prad i e | | _
03 pts | I} Compréhension de Pécrit —Vocabulaire.(08pts)
: i 1 — L’arbre est un étre vivant parce-qu’il se nourrit,
i respire et grandit comme nous,
01pt - 2 — Mets une croix devant la bonne réponse.
/,_ySES feuilles
L'arbre fixe le sol grice a .
\‘*Ses racines | X |
3- Recopie les phrases suivantes et réponds par « vrai»
o « faux »
i - L’arbre nous protége des rayomns du soleil ¥
93 pts 1 | - L’arbre produit de la lumiére f
1 ' - L’arbre dégage de I’'oxygéne [ ¥
01 pt 4- Compiéte par un mot de méme sens :
I'arbre retient le sol grice 2 ses racines.
: !
| 11 } Fonctionnement de la langue . (06 pts)
i * 1 —Encadre et donge les noms des différents
: groupes de |1 phruse suivante .
05+, 5+0,5 | En été . l'arbre "offre son ombre
L5pt C e —
G.P G.N G.V
2 - L arbre produit du bois pour que nous puissions
fabrigquer nos meunbles.
0.5p1 - Dans cette phrase , on peut remplacer « pour que »
i par « afin que ».
. 3- Ecris la phrase suivante 4 I'imparfait puis au futur
simple de I'indicatif.
| . = 1l produisait des fruits pour notre alimentation.
b2 pty 1 .- [l produira des fruits pour notre alimentation.
I
! 4- Compléte :
. 02 pts H&S:n‘f; Les arbres sont des étres vivants.
IIT) Production écrite. ( 6 pts )
1pt - Présentation et organisation.
3pts - Cohérence.
2pts - La forme.,
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Le nid de ¢hardonnerets.

I1 ¥ avait sar une branche fourchue de notre cerisier un nid de chardonnerets joli 4
voir, parfait, tout crin au-dehers, tout dovet an-dedans.
Quatre petits venaient d'y éclore. Je dis & mon pére : « J'ai envie de les prendre
pour les elever »,
Mon pére m’avait expliqué souvent que c’était un ¢rime de mettre des oiseaux en
cage. Mais cette fois, las sans doute de répéter la méme chese, il ne trouva rien a dire.
D’apres Jules RENARD, « Histoire natureile »

las : fatigué,

QUESTTONS

[) Compréhension de I’écrit (08 points)
1. Recopie les phrases suivantes et réponds par « Vrai » ou « Faux » :
- L’enfant veut vendre les chardonnerets. ... )
- L'enfant veut metire les chardonnerets dans une cage. ... )
- L'enfant veunt liberer les chardonnerets.{ ... )

2. Que fait le pére ?
- Le pére n'accepte pas I'idée de son fils,
- Le pere aide son fils 2 metire les petits oiseaux dans une cage.
- Le pere reste silencienx.
Chuisis la bonne réponse.

3. Campléte en choisissant la bonne réponse :

Le pére pense que ¢’est un crime de mettre les oiseaux en cage ¢ar .......
- tls sont trop petits,

- is aiment étre libres.

- la eage est trop petite pour eux.

4. Un cerisier est un :
- champ
- village
- arbre

Recopie ]a bonne réponse

daka 2/1 iaia) | |




§. « Quatre petits venaient d’y éclore » veutdire :

Quatre petits venaient de tomber du nid.

Quatre petits venaient de naitre dans le nid.-
- Quatre petits venaient de s'envoler du nid.
Chuoisis ]a bonne réponse,

6. « Mon peére m'avait expliqué souvent ... en cage ».

Le mot souligné signifie : rarement, plusieurs fois, partois.
Recopie la bonne réponse,

II) Fonctionnement de la langue (06 points)

1. Décompose 1a phrase suivante en ses différents grmlpas
« Je prends les oiseauy ».

2. « 1l ne trouva rien a dire ».
~ Cette phrase est-elle déclarative, imperative ou exclamative ?

3. Mets ]a phrase suivante i la forme négative :
« J'ai envie de prendre les piseaunx ».

4. Compléte :
- L'n nid joli et parfait.
- Unenmiche covveens B sraaninn s

1D Production écrite (16 points)
Voici une suite au texte. Remets les phrases dans Pordre :

- Quelques jours aprés, je reviens pour voir les piseanx.

. Malheureusement. je trouve la porte de 1a cage ouverte et les aiseaux
partis.

- Alors, je prends le nid et je le mets dans une cage.




porte de la cage ouverte et les oiseaux partis.

i ™ Respect des régles de cobéreace textuelle.

Al FRPTR rre
E 342
08pts ' Compréhension de I'éerit : I
3pts | 3x1 1- Réponds par Vrai / Faux
| — L'enfant vent vendre les chardonperets. (Faux)
; — L'enfant veut mettre les chardonoerets dans une cage. (Vraf)
— L'enfant veut libérer les chardonnerets. {Faux)
; 2 — Choisis la bonne réponse :
1 pt - Le pére ne trouve rien i dire,
2 -Compleéte :
1 pt Le pére pense ....... car ils aiment étre libres.
4 -La boonoe réponse :
1 pt Un cerisier ezt un arbre.
3 (Chaeisis 1a boane réponse :
1pt (natre petiis venaient de paiire dans le oid.
1pt & Le meot souligné sigoifie : plusieurs fois.
D pts | Fonctisnnement de ta langue {06 points)
1x32 | 1. Les groupes de la phrase et leurs nams 1|
2 pts w« Je rends les piseauy ».
| § GV
1 pt 2. Cette phrase est déclapative,
1 pt 3. Phrase a a forme négative
« Je M'ai PA% envie de prendre ces oiseaux »,
* Le«n's seul n'est pas 'di.'l:Eptl; daos la réponse .
2P% | 122 | 4. Complete :
- Lne niche jeli€ et parfait€.
O6pts | Productisn écrite ({6 puints) 111
i
Les phrases de 1a suite reconssituée
- Alors, je prends e nid et je le mets dans ane cage./ Quelques jours
223  gpris, je reviens pour voir les oiseaux./ Malheureusement, je trouve la

11
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